2021 FEF AR EHAEARE —

BEHE (2D
— P (1-10 /N, BERE 4 43, 340 43D
1. iﬁlxiggm% =70 a it 2 ( )
A% B1 C 5 D7

w P , . T(Xo+2n)-f .

BRI TS X%, (=3 lim 02 g

3 BO C2 D6

2 x—> 0K, sin(x*+5x%) 5 x? b2 (

BEMmTLs/hE B BAKMMELS /M C ZEMES/DE D FEMEAENTLS /M E
B y=x>+sinx, My’ ZEF ( )
-5x “+cosx B —5x +tcosx C -5x '—cosx D -5Hx —cosx
5. #y=\/4-3x2 , Mf 1)%T ( )
A0 B-1 C-3 D3

= A Dw0w> DN

6. J(2e*-3sinx)dx T ( )
A 2e*+3cosx+c B 2e*+3cosx C 2e*-3cosx D1
1
d
A = )
\/1-x
0

A0 B1 C% Dz

2

8. W z=arctan? )E“Jg%ﬂD ( ) 0z

X OX OXoy

_y _y X -X

A Xy B Xty C Xty D Xty

2
9. i&L y262x+y I)_IJJ 0°z = ( )

OXoy

A 2ye2x+y B 2e2x+y C e2x+y D 7e2x+y
10. AFEMHAS5BHSF, HP (A =05 P (AUB) =08|P (B) %F ( )

A03 B04 C02 DO1
:\ iﬁ%@ (11'20 /J\El)ﬁ\; /J\@ 4 ﬁj\y ;Hi“ 40 ﬁj\)

: 1o
1L lim (15 )=

X—>0

Ke® x<0
12. W RREL f(X)= 1E x=0 Abi#ESE, N k=
Hcosx x>0

13, BRE-e” 2 fOQM— AR A, T f(x)=




14. BRI y=x-* [FIMAE & x=
15. W% y=cos2x , Ky"=
16.  HiIZE y=3x%-x+1 7E & (0,1) LML 52 y=

1
17. fx-l dx =

18.  [(2e*-3sinx)dx =

19. Ifcossxsin xdx =

20. &% z=eM | 4=f5r dz=
= iFEE (21-28 /N, 70 43

X3l
L le_rH 2x2-x-1
2. WHREL y=x%¥, Kdy

3. E [xsin(x®+1)dx

4. W [ In@x+1)dx

5. BRI X 141514 x |2 ]1]0 1 ]2
(1) KRaffE, R P(x<l) y |[01|a |02]01]|03
(2) D)

6. SRERH y=1 (1A X AT

7. WERE z=(xy) & H TR x2+y2+2x-2yz=e? FTif 2 B R B0, 5K dz

8. SRk y=e*y=e* 5 HLk x=1 B[ & 11 1 B T AR



EF A REH AR —
BR

—. (1-10 /N, BERR 4 4y, 34040
1.D 2D 3.C 4A 5C 6.A 7.C 8A 9.B 10.A
. (11-20 /N, BN 4 4y, 3R 40 3D

11.e? 12.2 13.e* 14.0 15-4cos2x 16.y=-x+1 17. In)x-1+c 18. 2e*+3cosx+c

19. % 20. dz=e(ydx+xdy)

=, (21-28 /ph@R, H:70 9

L1 x2-1 x-D(x-1) 2
I 2x2x-1 T(x-1)(2x+1) "3

2.y =(x")" "+ (e™) x'=3x%+2e2x3 =x%?*(3+2x) dy=x%e?*dx

1
3. [xsin(x*+1)dx :% Ssin(x*+1)d(x?+1) =5 cos(X*+1)+c

1 1
2X 1 3
4. gln(2x+1)dx =xIn(2x+1) ‘(1) f 2x+1) dx :In3-{x-§ In(2x+1)} ‘}) :-1+§ In3
0

5. (1) 0.1+a+0.2+0.1+0.3=1 3t a=0.3
P(x<1), 52 x<1 % s A DN RAAT, EP: 0.1+0.3+0.2=0.6
(2)  E(x)=0.1-2)+0.3>(-1)+0.2>0+0.1x1+0.3>2=0.2
D(X)=E{xi-E(x)}>=(-2-0.2)%x0.1+(-1-0.2)2x0.3+(0-0.2)2>0.2+(1-0.2)?>0.1+(2-0.2)?>0.3=1.96

6.1) &Ik x#1

e (1+x) —e" xe'
(1+x)* (1+x)°

3) &y’ =0, 5 x=0 (FE x=1 X — B ZAE AT RE SR X TR D

2)y' =

X (-0, 1) -1 -1, O 0 (0, +o0)




. EEL - 0 '
y' T X F0)=1 K
v VN YN

BRETE (o0, 1) U (-1,0) [X|a] PN B85 %
7 (0, +oo) PN EAIH I
Z PR BT x=0 AU/ IME, BR/MEN 1

7.q =2X+2, a =2y-27 a =-2y-e*
OX oy 0z

a_ot o _200)
ox  ox  or  yte

az __ of of __2y-2z _2y-2z
ay oy oz -(2yten) T2yt

2(x+1) 2y-22
0=y +er PX*oyrer B

8. R HIZk y=e', y=e, HHEZ x=1 s AL, e),B(1, ") U

1

dx+

S= J.Ol(ex —e)dx= (e'te™) ‘t =ete =2

y=e*

v




